d

76 o
S
MODEL BUILDING METAL PARTS
Description Description
No. AXLERODS No. PINIONS
., (Machined Ends} 25 . 3/4”,18.3 mm dia. 1/4” face. 25 teeth
1b 15 57,127 mm long 252 3/4”.18.3 mm dia, 1/2” face, 25 teeth
152 4.12". 114 mm long 25b  3/4”,18.3 mm dia. 3/4" face. 25 teeth
Bescrmption Dbl g 2%  172".14.0 mm dia. 1/4” face. 19 teeth
pt 16 3.1/2".89mmlong 26a  1/2".14.0 mm dia. 172" face. 19 teeth
No. PERFORATED STRIPS 16a  2.1/2".63mmlong 26b 12", 14.0 mm dia, 3/4” face, 19 teeth
I 12.1/2".317 mm long. 25 holes 16b 3", 76 mm long 26c  7/16". 12.0 mm dia, 1/4" face. 15 teeth
la  9.1727.240 19 17 2, 51 mm long 26d  7/16",12.0 mm dia, 1/2" face. 15 teeth
b 7.127.190 15 18a  1.1/2". 36 mmwng 26e  7/16",12.0 mm dia, 3/4” face. 15 teeth
I 24.1727.622 49 18b 17,25 mm long 26f  5/8”.15.8 mm dia, 1/4” face, 22 teeth
1d  18.1/2", 469 37 26g  5/8”,15.8 mm dia, 172" face, 22 teeth
le 6.172". 165 13 26h  5/8”,15.8 mm dia, 3/4" face. % teetg
f 15.1727.393 31 26k  7/8”,21.7 mm dia. 1/4” face, 30 teet!
2 5.1/27.139 Il — 26m 3/8”, 8.7 mm dia, 1/4" face. 10 teeth
2a 412", 115 9 19s
3 3.1/2", 89 )
4 3", 76 mm long. 6 holes No.
g %,lgzl'n?; "{10“‘11 g‘oggﬁjg"lcs 19h  Crank. 5", 127 mm long shaft Q@ P
2, . e jad -
Ba, 1177, Bmmlong, 3 holes 19¢g Crank, 3.1/2", 89 mm long shaft s
6b 17,25 mm long. 2 holes
* 27d
g
) $8Y) No. GEARWHEELS
= 5 27 1.3/8", 35.2 mm dia, 50 teeth
27a 1.1/2",39.4 mm dia, 57 teeth
b 20a 18b 21 27b  3.1/2°.90.2 mm dia. 133 teeth
27¢  2.1/2", 64.8 mm dia, 95 teeth
27d  1.5/8",41.4 mm dia, 60 teeth
No. ANGLE GIRDERS D 27e 1.7/16". 37.6 mm dia, 55 teeth
7 24.1/2". 622 mm long. 49 holes LD @ 27g  1.1/4", 31.8 mm dia, 45 teeth
7a  18.1/2", 469 37 27h  1.3/4".44.8 mm dia.265 (ee;h
7o 15.1/27,393 31 27k 47, 102.9 mm dia, 152 teet
8  12.127.317 25 22a 23b 23a
8a 9.1/2", 240 19
8b  7.1/2".190 15
8c 6.172", 165 13
9 5.1727, 139 11
9a 4.172", 115 9
9%  3.172", 89 7
9¢  3",76 mm long, 6 hotes
9d  2.1/2". 63 mm long, 5 holes No.
9¢ 27,51 mm long, 4 holes No. PULLEYS 27f  Multipurpose Gear, 14 teeth, (Black plastic)
9f  1.1/2", 38 mm long. 3 holes 190 3", 76 mm dia, with boss and set screw 28 Contrate Wheel, 1.3/8" dia, 50 teeth
9g 17,25 mm iong. 2 holes 19d 3", 76 mm dia, without boss 29 Contrate Wheel, 3/4” dia. 25 teeth
20a 2",51 mmdia. with boss and set screw
20c 27, 51 mm dia without boss
21 1.1/2".38 mmdia, with boss and set screw
ARG ) [} 2ta 117" 38mmdia, without boss ,;*‘“6*; s
b (@ o/ QQ 22 17,25 mmdia, with boss and set screw Wgnnes> e
10 1 1 11b 22a 1;.25g1mdis,withoutboss B J
a 23 5/8”, 15 mm dia, without boss (plastic)
23a 58,15 mmdia, with boss and grﬁb screw 30 30a 30c
23b  5/8”,15 mmdia, without boss (metal)
g s No. BEVEL GEARS
&9 Q 5 23¢  3/8”.9.5 mm dia, with boss (metal) N s e
° o 302 1/27, 14.0 mm dia. 16 teeth } Pair
3Cc  1.12", 40 mm dia. 48 teeth
12 12a 12b 12¢ @\
No. BRACKETS @ e =
10 Fishplate. 7/8”. 23 mm long, 2 holes
11 Double Bracket, 1/2"x 1/2".13x 13 mm 20 24c e
}1g 1 x127,25x13 mm e
1 .1/2"x1",13x25 mm : .
12 Angle Bracket. 122" x 172", 13x 16 mm 20 Flanged Wheel, 1.1/8", 30 mm dia 34
12a 1"x17.25x 25 mm 24 Bush Wheel, 1.3/8" dia. with boss, 8 holes
L N R
o o " usl eel, 1.3/8" dia, with boss, 5 holes
12 Obtuse Angle Bracket. (135°). 12x 172 242 Wheel Disc, 1.3/8" dia, without boss, 8 holes )
24c  Wheel Disc, 1.3/8" dia, without boss, 6 holes
24 Wheel Disc, 1.3/8" dia, without boss, 5 holes 37 38 38d
E————— No.
31 Gear Wheel. 1, 26.7 mm dia. 1/4” face. 38 teeth
16a U % 32 Worm, 1/2”, 14 mm dia, right hand helix
A EFODS 133321 ;Norm. lfﬂ" 14 mm dia, left hand helix
No. anner for square nut
(Machined Ends) 26 26b 26d 36 Sgrewdriver 4
13 11.1/2".292 mm long y 37  Nutand Bolt
i3a  ¥".203 mm iong 37a  Square Nut, 1/4" per side
14 6.1/27, 165 mm long 376 Cheesehead Bolt, 7/32".5.5 mm long
14a  5.1/2". 139 mm long 38 Washer, 3/8” dia
NOTE: The above sizes are furnished ONLY in 26m 38c  Plastic Trans Washer. 3/8" dia
stainless steel 38d Washer, 3/4", 19.0 mm dia




EXacit

G Q) —{=) =
R Ve X L =& o 6@%6
43 45 62 62b 84 89a
i SIS SE R &
4 Tension Spring, 2", 51 mmlo ’ S 20 e
ension Spring, 2, 51 mm long
45 Double Bgnt Strip 62d 62f Description
Description No. CURVED STRIPS
No. 84 6", 152 mm radius, 3.1/2", 89 mm long
6%6 & G 85 8'.203 mm radius. 4.1/2", 115 mm long
62a  Threaded Boss Crank gg %‘Z‘N.gggmmradym. 6.1f2:. 165 mm long
5 mm radius, 7.1/2", 190 mm long
48a 62b  Double Arm Crank 89 10" 254 5 :
" mm radius. 5.1/2", 139 mm long
62c  Threaded Boss Double Arm Crank 89  1.3/4".44.5 mm radius. 3", 76 mm I
62d  Short Arm Crank. eiongated end hole e R G T T ORg
No. DOUBLE ANGLE STRIPS @2 Short At Coark _mga 89b  4.1/2". 115 mm radius, 4", 101 mm long
46 2.12"x1%,63x25 mm. 5 x 2 holes @&  Double Arm le;km .?;! bo:;& 90  2.12". 63 mm radius. 2.1/2". 63 mm long
47 2.1/2"x1.1/2",63x38 mm, 5x 3 holes @z Crank, st boss Without 90a  1.3/8",35 mm radius, 2.1/2", 63 mm long
472 3"x 1.172",76 x 38 mm, 6 x 3 holes g ST
48 1.1/2"x 1/2", 38 x 13 mm. 3 x 1 holes
48a  2.12"x 12", 63 x 12 mm, 5 x 1 holes m @ @ IO
48b  3.1/2"x 1/2".89 x 13 mm, 7 x 1 holes \ %
48c  4.12"x1/2".115x 13 mm, 9x 1 holes S%A;)
48d  5.12"x1/2,139x 13 mm. 11 x 1 holes 63 63b 63c
100
(el (eceal No. BRACED GIRDERS
97 3.1/27, 89 mm long, 7 holes
63d 63e 98  2.1/2", 63 mm long, S holes
99 12.172", 317 mm long, 25 holes
99a  9.1/27, 240 mm iong, 19 holes
Coupling for Axle Rods 99b  7.1/2", 190 mm long, 15 holes
Coupling for Axle Rods and Strips 99c  15.1/2", 393 mm long, 31 holes
Coupling for Axle and Threaded Rods 99d  18.1/2", 469 mm long, 37 holes
Short Coupling for Axle Rods 9e  24.1/2", 622 mm long. 49 holes
Long Coupling for Axie Rods 100 5.1/2", 139 mm long, 11 holes
100a 4.1/2", 115 mm long, 9 holes
E 100b 6.1/2°, 165 mm long, 13 holes
64 69 69a
No. FLANGED PLATES 103b
51  Rect.2.12"x1.172°, 63x38 x 13 mm No.
5la  Square.1.1/2°x 1.12°,.38x 38 x 13 mm 64  Threaded Boss No. FLAT GRDERS
52 Rect.5.1/2"x2.1/2°,139x 63 x 13 mm 6 SetScrew, 3/16". 4.8 mm long 103  5.1/2". 139 mm long, 11 holes
53 Rect.3.12"x2.1/2°,89x 63 x 13 62  Grub Serew, 5/32”, 4 mm long 1032 9.1/2”, 240 mm long. 19 holes
54 Sector. 4.1/2", 115 mm long, 9 holes 6%  Grub Screw, 3/16”. 5 mm long 103b 12.1/2", 317 mm long. 25 holes
103¢  4.1/2", 115 mm long, 9 holes
R 103d 3.1/2", 89 mm long, 7 holes
gecse Gecvean &2 103e 3", 76 mm long, 6 holes
- Saieo Sss ot o ° 103f 2.1/2". 63 mm long, 5 holes
eoeey S 103g 27,51 mm long, 4 holes
. 103h 1.1/2”, 38 mm long, 3 holes
72 76a 103k 7.1/2", 190 mm long, 15 holes
54a 103m 1", 25 mm long, 2 holes
103r 24.122". 622 mm long. 49 holes
No. FLATPLATES 103s  18.1/2", 469 mm long. 37 holes
52a  5.12"x3.172".139x89 mm, 11x 7 holes 103t~ 6.1/2". 165 mm long. 13 holes
52b  7.1/2"x3.1/2".190x89 mm, 15x 7 holes 103u 15.1/2", 393 mm long, 31 holes
52¢  9.1/2"x3.1/2".240x 89 mm, 19 x 7 holes
52d  12/12"x3.1/2°.317x89mm, 25x 7 holes = S
52e  6.172"x3.1/2".165x89 mm, 13x 7 holes No. FLATPLATES i}bés" %% o
52f  3.1/2"x3.1/2".89x89mm. 7 x 7 holes 70 5.1/2"x2.1/2", 139 x 63 mm, 11 x 5 holes u@ o 2 o>
53a  4.1/2"x2.1/2".115x63 mm. 9x 5 holes 71 3.1/2"x2.12°, 89x63mm, 7x5 holes S °
54a  Sector, 4.1/2", 115 mm long, 9 holes 72 2.U2'x2.12", 63x63mm, 5x5 holes 109b 09
73 3"x1.1/2°, 76 x 38 mm, 6 x 3 holes
74 1.1/2" x 1.1/2", 38 x 38 mm, 3 x 3 holes
2 TIZ3LIZ. naimn. 35 oboks 105 Face Piate. 8 holes. 2.172". 63 mm dia
Goc—socc—o o0 The 4%: ig gg ; %ﬁ?;;théis 109a Face Plate, 10 holes, Z.UZ:. 63 mm dia
55 55a 74d  5.12'x 1.172.38x 139 mm. 3x 11 holes 108 ‘Face PLite, 12 oles, 2. 127, 63 mmidin
| TAe  7.1/2"x1.1/2", 38 x 190 mm, 3 x 15 holes
'77:; 91)21422"} 1.112[;, 38 x 240 mm:. 3 x 19 holes
k -1/2"x1.1/2", 38 x 317 mm, 3 x 25 holes w
ASTA=ICT=X) 74h  6.1/2"x1.1/2".38 x 165 mm, 3 x 13 holes
55b 175 7.127x2.172.63x190mm. 5x 15 holes 111
\ ;gg g.ig”x%ig.”, g§x§65 mm, 5x 13 holes
No. | 5 "3( 2 ”; x240 mm, 5x 19 holes No. CHEESEHEAD BOLT
55 Slotted Strip. 5.1/2", 139 mm, 7 holes / ;g; 212'%2.12 , S3x 317 mm. 5125 holes 111 3/4",19 mm long
55a  Slotted Strip. 2”. 5imm. 3 holes iy Tﬂ,angular- 2.172"x1.172". 3 x 5 holes 11la 12,13 mm long
55b  Slotted Strip. 4, 115 mm, 7 holes riangular. 2.1/2"x 2", 4 x 5 holes 111b 5/16”,8 mm long
illc 3/8",9.5 mm iong
e 111d 1.1/8", 28 mm long
81
@C)@ @ || SCREWEDRODS
S 78 11.12",292 mm long W T
79 8,203 mm long
57c 59 59b| | 7 6 152mm long
80  5",127 mm long 115 120b
No. 80a  3.172", 89 mm long
57¢  Loaded Hook 80b  4.12", 114 mm long No.
58  Spring Cord. 40", 1 metre long 80c  3".76 mm long 115  Threaded Pin, 3/4”, 19 mm long
59 Collar, 3/8",9.5 mm dia. 1/4”, 6.3 mm iong 81 2", 51 mm long 115a Threaded Pin, 1.3/8", 35 mm long
59a  Collar. 5/16". 8.0 mm dia. 7/32".5.5 mm long 8la  1.172". 33 mm long 116  Fork Piece, large
59b  Collar. 3/8" dia. 5/16" long (t'verse bore) 82  1".25mmiong 120b Compression Spring. 9/16”. 15 mm iong




=

124

125

Description
No.

124 Rev Angle Bracket, 1"x1/2”, 25x13mm
125  Rev Angle Bracket, 1/2"x1/2", 13x13mm

62

126 133a 126a
No.
126  Trunnion
126a Flat Trunnion
133a  Corner Bracket, 17, 25 mm, 2 holes

136 136a
No.
136  Handrail Support
136a  Handrail Coupling
gm—

=

137 137a
No.
137 Wheel Flange, 2.7/32", 55 mm dia
137a Wheel Flange, 2.1/2", 64 mm dia
137b Wheel Flange, 3.1/2", 89 mm dia

142a
No. MOTORTYRES
142a To fit pulley No. 20, 2" dia rim
142b To fit pulley No. 19b, 3" dia rim
142¢  To fit pulley No. 22, 1" dia rim
A
)
=
144

Exaclo

Description

No. CIRCULARPLATE

146 6",152mmdia, 16 holes around periphery
146a 4",101 mm dia, 16 holes around periphery
146b 3", 76 mm dia, 8 holes around periphery
146¢c  2.1/2",63 mm dia, 8 holes around periphery
146d 2.172",63 mm dia, 10 holes around periphery
146e 2.1/2",63mmdia, 12 holes around periphery

==

147b

o

155

No.
147b
147d
155

Pivot bolt with two nuts, 7/8", 22mm long
Pivot bolt with two nuts, 15/16”, 24mm long
Rubber ring, to fit pulley No. 22, 1" dia rim

EEET
161e

No. ANGLE GIRDERS, L SECTION
161 2", 51 mm long. 4 holes

161a 2.1/2", 63 mm long, 5 holes
161b 3", 76 mm long, 6 holes

161c 3.1/2", 89 mm long, 7 holes
161d 4.1/2", 115 mm long, 9 holes
161le 5.1/2”,139 mm long, 11 holes
161f 6.1/2”, 165 mm long, 13 holes
161g 7.1/2", 190 mm long, 15 holes
161h 9.1/2”, 240 mm long, 19 holes
161k 12.1/2", 317 mm long, 25 holes
161m 15.1/2", 393 mm long, 31 holes
161r 18.1/2", 469 mm long, 37 holes
161s 24.1/2”, 622 mm long, 49 holes

164

No.

164  Chimney adaptor

167d Flatring, 10.7/8". 276 mm ext dia, 8.3/8"
213 mm int dia

Flat ring, 6", 152 mm ext dia. 4.1/2"
115 mm int dia

144 Dog clutch
145 Circular strip, 7.1/2", 190 mm ext dia
No.

145a Toothed circular strip, 7.1/2", 192 mm
dia, 150 teeth DP 20, to mesh with
pinion No. 145b

Pinion. 5/8”, 16 mm dia. 1/4”, 6.3 mm
long, 10 teeth, DP 20 .

Toothed circular strip, 5.1/2", 140 mm
dia, 110 teeth DP 20, to mesh with
Pinion No. 145b

Flat ring 8.3/8", 212 mm ext dia,

6", 152 mm int dia

145b
145¢

145d

168d 168f 168
No.
168a Ball thrust bearing flanged disc, 3.3/4"

95 mm dia

Ball thrust bearing toothed disc, 4”,
101 mm dia, 80 teeth DP 20, (hobbed)
to mesh with Pinion No. 168h

Steel ball, 3/8”, 9.5 mm dia

Steel ball, 1/2”. 12.7 mm dia

Bracket for steel ball 1/2”, 12.7 mm dia
Angle bracket for steel ball 1/2”,
12.7mmdia

No. -
168h Pinion, 1.3/16”. 30 mm dia, 6.3 mm
1/4" long, 20 teeth, DP 20

Cﬁ:};: cya.m

173a 171 179

No.

171  Socket coupling

173a  Adaptor for screwed rod
179 Rod socket

No.
186
186a
186b

No.
187

No.
188

190
190a
191
192

No.

193

193a
193b
193¢
193d
193e

No.

194

194a
194b
194c
194d
194e

No.
195
195a

197

-

186a

Description
LIGHT DRIVING BANDS

2.1/2",63 mm
6”,152 mm
10", 254 mm

Road Wheel, 2.1/2”, 63 mm dia (Plastic)

192

METAL FLEXIBLEPLATES
2.1/2"x1.1/2",63 x38 mm, 5 x 3 holes
5.1/2"x1.1/2”,139x 38 mm, 11 x 3 holes
2.1/2"x2.1/2",63x63 mm, S x5 holes
3.1/2"x2.1/2",89x 63 mm, 7 x 5 holes
4.1/2" x 2.1/2", 115 x 63 mm, 9 x 5 holes
5.1/2"x2.1/2",139x 63 mm, 11 x S holes

So000a
o o o
cvoog

193

TRANSPARENT PLASTIC
FLEXIBLE PLATES

2.1/2"x1.1/2",63 x38 mm. 5 x 3 holes
2.1/2"x2.1/2",63x63 mm, 5x 5 holes
3.1/2"x2.1/2",89x63 mm, 7 x 5 holes
4.1/2"x2.1/2",115x 63 mm, 9 x 5 holes
5.1/2"x1.1/2",139x 38 mm, 11 x 3 holes
5.1/2"x2.1/2",139x 63 mm, 11 x5 holes

500
o
co0o

194

COLOURED PLASTIC
FLEXIBLEPLATES

2.1/2"x1.1/2",63 x38 mm, 5 x 3 holes
2.1/2"x2.1/2",63x 63 mm, 5x 5 holes
3.1/2"x2.1/2",89 x63 mm, 7 x 5 holes
4.1/2"x2.1/2",115x 63 mm, 9 x 5 holes
5.1/2"x1.1/2",139 x 38 mm 11 x 3 holes
5.1/2"x2.1/2",139x 63 mm, 11 x 5 holes

5000000000000 060600
00000000000000000

196

STRIPPLATES
7.1/2"x2.1/2",190x 63 mm, 15 x 5 holes
6.1/2"x2.1/2",165 x 63 mm, 13x S holes
9.1/2"x2.1/2",240x 63 mm, 19 x 5 holes
12.1/2"x2.1/2",317 x 63 mm, 25x 5 holes

2T BT
Eu) 2
AL

Curved Plate, U Section, 2.1/2"x2.1/2",
63 x 63 mm, 9/32" rad, 8 mm
Curved Plate, 2.1/2" x 2.1/2", 43 mm rad

HELI

CAL

Pinion, 9/16", 14mm dia, 12 teeth,

right hand helix

Pinion, 5/8”, 16 mm dia, 14 teeth,

right hand helix

Gear, 1.1/2", 38 mm dia, 35 teeth,

right hand helix

Pinion, 5/8”, 16 mm dia, 14 teeth,

left hand helix

Pinion, 9/16”, 14 mm dia, 12 teeth

left hand helix




& Z S =
212 212a 213
Description

No.

212 Rodand Strip Connector
212a  Rod and Strip Connector, Right Angle
213 Rod Connector

oogoo 1:.
214 214a 214c

No.
214 Semi Circular Plate, 2.1/2"x1.1/2"
63 x 38 mm, 5 x 3 holes
214a Quarter Circular Plate, 1.1/2"x 1.1/2",
38 x 38 mm, 3 x 3 holes
214b  Quarter Circular Plate, Flanged (R/H)
214c  Quarter Circular Plate, Flanged, (L/H)

215 215a

No.
215  Formed Slotted Strip, 3", 76 mm long
215a FlatSlotted Strip, 3.1/4", 79 mm long

O 0000 Oo0o00O0 °°°
ko °o o KA
9, 2602 o o3
o
221 222 223
TRIANGULAR
No. FLEXIBLE PLATE

221 2.1/2"x1.1/2",63x38 mm, 5 x 3 holes
222 2.1/2"x2",63 x51 mm, 5 x 4 holes
223 2.1/2"x2.1/2",63x63mm, 5 x 5 holes

= | W

230 231

No.
230 Rod with keyway, 4", 101 mm long
231 Key Bolt

@UTTOTBTTTD

235¢f

No. NARROW STRIPS
235 2.1/2"long, 63 mm, 5 holes
235a 3", 76 mm long, 6 holes

235b 3.1/2"long, 89 mm, 7 holes
235c 2"long, 51 mm, 4 holes

235d 4.1/2"long, 115 mm, 9 holes
235f 5.1/2"long, 139 mm, 11 holes
235g 1.1/2" long, 38 mm, 3 holes
235h 6.1/2" long, 165 mm, 13 holes
235k 7.1/2" long, 190 mm, 15 holes
235m 1"long, 25 mm, 2 holes

236¢
OUBLE ANGLE
No. NARROW STHIPS

236 2.1/2"x1”,63 x 25 mm, 5 x 2 holes
236a 2.1/2"x1.1/2",63 x 38 mm, 5 x 3 holes

Exaclo

Description
No.
236b 3"x 1.1/2".76 x 38 mm, 6 x 3 holes
236c 1.1/2"x1/2", 38 x 13 mm, 3 x 1 holes
236d 2.1/2"x1/2",63 x 13 mm, 5x 1 holes
236e 3.1/2"x1/2".89 x 13 mm, 7 x 1 holes
236f 4.1/2"x1/2".115x 13 mm, 9 x 1 holes
236g 5.1/2"x1/2".139x13mm, 11 x 1 holes

0| |5
237 238 238a

Q<
238b 239 239a
Q2 S
239b 240 241
No. NARROW BRACKETS

237  Fishplate, 7/8”, 23 mm long, 2 holes

238  Double Bracket, 1/2"x1/2", 13x 13 mm
1x1x1 holes

238a Double Bracket, 1”x 1/2",25x 13 mm
2x1x2 holes

238b Double Bracket, 1/2"x 1", 13 x 25 mm
1x2x1 holes

239  Angle Bracket, 1/2"x 1/2",13x 10 mm
1x 1 holes

239a  Angle Bracket, 1"x1”,25x 25 mm
2 x 2 holes

239b  Angle Bracket, 1"x 1/2”, 25x 13 mm
2 x 1 holes

240 Obtuse Angle Bracket, (135°), 1/2"x 1/2",
13x 10 mm. 1 x 1 holes

241  Double Bent Strip

242e

No. OBTUSE ANGLE GIRDERS
242 1”,25 mm long, 2 holes

242a 1.1/2", 38 mm long, 3 holes
242b 2", 51 mm long, 4 holes

242c 2.1/2", 63 mm long, 5 holes
242d  3”,76 mm long, 6 holes

242e 3.1/2", 89 mm long, 7 holes
242f 4.1/2", 115 mm long, 9 holes
242g 5.1/2", 139 mm long, 11 holes
242h 6.1/2", 165 mm long, 13 holes
242k 7.1/2", 190 mm long, 15 holes
242m 9.1/2", 240 mm long, 19 holes
242r 12.1/2", 317 mm long, 25 holes

‘“
243

NARROW REVERSE
No. ANGLE BRACKET

243 1/2"x1/2",13x 13 mm, 1 x 1 holes
244  1/2"x1”,13x25mm, 1 x 2 holes

:
245 245b
G509
245a 245¢
No. NARROW SLOTTED STRIP

245 3.1/4”, 79mm long

245a 2", 51 mm long, 3 holes
245b 4", 127 mm long, 7 holes
245c 5.1/2", 139 mm long, 7 holes

246

Description

No.

246 Obtuse Double Angle Strip, 1/2"x 2",
13x 51 mm, 1x 4 holes

246a  Obtuse Double Angle Strip. 1/2"x3.1/2",
13 x 89 mm. | x 7 holes

251.

No. TOOTHED DISCS

251 4”,102.9 mm dia. 152 teeth

251a  3.1/2",90.2 mm dia, 133 teeth r
251b 2.1/2", 64.8 mm dia. 95 teeth

251c 1.3/4”,44.8 mm dia. 65 teeth

251d 1.5/8", 41.4 mm dia. 60 teeth

251e 1.1/2”,39.4 mm dia, 57 teeth

251f 1.7/16", 37.6 mm dia, 55 teeth

251g 1.3/8",35.2 mm dia, 50 teeth

&

252 253a

257

]

254

258

No. SYSTEM FORS5/16”,8 mm dia AXLES

252 Square Bearing Plate, 1.1/2"x 1.1/2"
3 x 3 holes, with boss

253  Bushwheels, 1.3/8”. 35 mm dia, 8 holes

253a  Bushwheels, 1.3/8”, 35 mm dia, 6 holes

253b  Bush wheels, 1.3/8". 35 mm dia. 5 holes

254 Collar, 1/2",12.7mm dia. /8", 9.5mm long

254a Narrow collar, 1/2”,12.7 mm dia, 1/4*
6.3 mm long

255  Coupling, 15/16”,23.8 mm long, 5/8",
15.8 mm dia

256  Axle rod. 8”203 mm long

256a Axlerod, 6.1/2", 165 mm long

256b Axle rod, 5.1/2”. 139 mm long

256c Axlerod, 3.1/2", 89 mm long

257  Washer, 1/2”, 12.7 mm outside dia

258 Hollow axle, 2", 51 mm long, 0.165"
inside dia. 4.2 mm

600000600000

260a

No. BROAD STRIP PLATES

260 5.1/2"x3.1/2",139x 89 mm. 11 x 7 holes
260a 6.1/2"x3.1/2",165x 89 mm. 13 x 7 holes
260b 7.1/2"x3.1/2”,190x 89 mm. 15 x 7 holes
260c 9.1/2"x3.1/2",240x 89 mm. 19 x 7 holes
260d 12.1/2"x3.1/2",317x89mm, 25x 7 holes

MINIATURE ENGINEERING SUPPLY GROUP

Div. of Valley Transport, Inc.
P.O. Box 2184

Rogers, Arkansas 72757
Telephone 501-636-4312

Fax 501-621-5452




	‎C:\Users\User\Documents\Meccano-5\Pepe\Exacto etc\Exacto 1993 illustrated PL, 1.pdf‎
	‎C:\Users\User\Documents\Meccano-5\Pepe\Exacto etc\Exacto 1993 Illustrated PL, 2.pdf‎
	‎C:\Users\User\Documents\Meccano-5\Pepe\Exacto etc\Exacto 1993 Illustrated PL, 3.pdf‎
	‎C:\Users\User\Documents\Meccano-5\Pepe\Exacto etc\Exacto 1993 Illustrated PL, 4.pdf‎

